St Bavo *** ClubTornooi *** 4 giften per ronde *** 17/02/2020 NZ OW |gift 1 NZ OW gift 2 NZ OW gift 3 NZ OwW gift 4 NZ OW
1 Van Essche Monique-Sels Rita 2 Van Meir Lucie-Van Limbergen Guy 1 2 12 2 -180 WIN+3| 8 6 180 Z2N+2 3 11 -50 N4s-1 5 9 0 PAS
3 De Cort Leo-Snyders Robert 4 Cruylant Yolnde-Creffier Sonja 3 6 9 5 —400 O3N= 11 3 600 Z3N= 3 11 -50 N4S-1 5 9 0 PAS
5 Groffen Leen-Sorensen Walter 6 Smout Christiane-Mertens Willy 5 10 9 5 —400 W3N= 14 0 630 Z3N+1l 8 6 70 Z1R= 13 1 200 WIN-2
7 Puttemans Marie Rose-Vankerckhoven Gerd |8 Westreich Martine-Hermans Ida 9 14 0 14 -460 W3N42 6 8 150 72N+l 3 11 -50 N4S-1 5 9 0 PAS
9 Gielis Nin-Duces Francine 10 Baetens Monique-Verlooy Francois
11 Phlips Lieve-Van Hoof Frans 12 Symens Marc-Van Dievel Herman ’ ‘ 410 ma30 W b3 o100 nenmt H 3 a0 nesH > ’ 0 FAS
13 Roes Jef-Symons Linda 14 Voorspools Pierre-Vercruyssen Jules 18 14 0 o0 041 4 10 110 n2s= 1 3 140 NS+l 13 1200 waN-2
15 Van Eygen Kristien-Lauwers Chantale 16 Beirens Yvonne-Docx Roger 13 12 4 10 -430 W3N+1 11 3 600 z3N= 14 0 170 z2s+2) 10 4 100 WiN-1
15 16 4 10 -430 W3N+1 1 13 -100 z2N-1 3 11 -50 N3s-1 0 14 -120 WIN+1
NZ OW |gift 5 NZ OW gift 6 NZ OW gift 7 NZ OW gift 8 NZ OW NZ OW |gift 9 NZ OW gift 10 NZ OW gift 11 NZ OW gift 12 NZ OW
1 14 2 12 -480 0O5S+1 3 11 -110 w2s= 4 10 -100 N2R-1 14 0 400 Z3N= 1 12 7 7 450 N4s+1 10 4 150 NIN+2 1 13 -500 z4s!-3 4 10 90 Z1N=
3 4 14 0 50 WeN-1| 8 6 -50 N3H-1 14 0 600 N3N= | 10 4 170 Z3H+1 3 2 14 0 980 N6S= 14 0 630 N3N+1| 11 3 -50 N5R-1| 14 0 150 Zz1N+2
5 8 9 5 —450 04s+1 3 11 -110 w2s= 4 10 -100 ZzIN-1 5 9 110 N2R+1 5 6 2 12 200 N3S+2 2 12 -100 ZzZ3N-1 11 3 -50 N4R-1 4 10 90 Z1N=
7 16 2 12 -480 05S+1 14 0 400 w4s-4 0 14 -500 N3N!-2| 8 6 150 wW2s-3 7 10 12 2 480 N4s+2| 2 12 -100 N3N-1 4 10 -420 w4H= 8 6 100 O2H-2
9 2 2 12 -480 04s+2 3 11 -110 wW2s= 12 2 200 O2H-2] 1 13 -50 N2N-1 9 14 7 7 450 N4S+1 6 8 120 N2N= 14 0 110 Z3R= 0 14 -300 z4s5-3
11 6 9 5 -450 04s+1 | 10 4 110 Z3R= 9 5 120 N2N= 1 13 =50 z3N-1 11 4 7 7 450 N4S+1 8 6 130 N3K+1 1 13 -500 z4s!-3| 11 3 120 NIN+1
13 10 9 5 —450 04S+1 12 2 130 Z3K+1| 9 5 120 N2N= 12 2 180 Z2N+2 13 16 0 14 -50 N6S-1 12 2 600 N3N= 6 8 -170 W3H+1 4 10 90 Z1N=
15 12 9 5 —-450 04s+1 3 11 -110 w2s= 4 10 -100 N2Ss-1 5 9 110 Z2H= 15 8 7 7 450 N5S= 2 12 -100 N3N-1 8 6 -100 N5R-2 11 3 120 z1N+1
NZ OW |gift 13 NZ OW gift 14 NZ OW gift 15 NZ OW gift 16 NZ OW NZ OW |gift 17 NZ OW gift 18 NzZ OW gift 19 NZ OW gift 20 Nz OW
1 10 7 7 -110 O2H= 11 3 130 Z2K+2| 9 5 650 N4H+1 14 0 150 ZzZ1N+2 1 8 2 12 -100 N4S-2 12 2 100 OIN-2| O 14 -170 W2S+2 8 6 -110 O3R=
3 14 14 0 300 O4H-3| 0 14 -120 WIN+1 14 0 680 N4H+2| 7 7 90 Z1N= 3 12 9 5 =50 N3s-1 12 2 100 O2N-2| 8 6 -50 N3H-1 11 3 100 WwiN-1
5 16 2 12 -140 O2H+1 5 9 100 WIN-2 9 5 650 N4H+1 7 7 90 N2K= 5 2 2 12 -100 N4S-2 4 10 50 02N-1 4 10 -140 w3s= 14 0 200 O2N-2
7 8 2 12 -140 W2H+1 8 6 120 N2N= 9 5 650 N4H+1 12 2 120 zIN+1 7 6 14 0 110 N2s= 4 10 50 OIN-1 4 10 -140 w3s= 11 3 100 O1N-1
9 12 7 7 -110 O2H= 2 12 -90 WIN= 9 5 650 N4H+1 2 12 -120 WIN+1 9 10 9 5 -50 N4s-1 4 10 50 OIN-1 4 10 -140 w3s= 6 8 —-120 OIN+1
11 2 10 4 -100 z2s-1 5 9 100 wW3s-2 4 10 620 N4H= 7 7 90 Z1N= 11 16 9 5 -50 N4s-1 4 10 50 OIN-1 12 2 140 N3H= 4 10 -150 W2N+1
13 6 12 2 100 02H-1| 11 3 130 zZ2K+2| 0 14 -200 N3N-2 7 7 90 N2K= 13 4 9 5 -50 N4s-1 12 2 100 OIN-2| 14 0 170 N3H+1| 2 12 -200 z2s-2
15 4 2 12 -140 W2H+1 14 0 150 WIN-3| 2 12 200 N2H+3 0 14 -150 z3N-3 15 14 2 12 -100 N4s-2 4 10 50 OIN-1 | 10 4 100 w3s-1 0 14 -300 z2s-3
NZ OW |gift 21 NZ OW gift 22 NZ OW gift 23 NZ OW gift 24 NZ OW NZ OW |gift 25 NZ OW gift 26 NZ OW gift 27 NZ OW gift 28 NzZ OW
1 6 0 14 170 z1sS+3 1 13 -170 O4R+2 8 6 650 Z4H+1 7 7 420 Z4S= 1 4 0 14 -200 z2N-4 |11,6 2,4 80 Zls= 1 13 -130 OlK+3 8 6 —-480 W4S+2
3 16 2 12 200 z2s+3 9 5 =50 z2s-1 8 6 650 Z4H+1 12 2 450 z4s+1 3 8 2 12 -100 z2N-2 (13,9 0,1 300 W3N-3| 11 3 50 O4K-1| 8 6 —480 W5S+1
5 14 5 9 620 z4s= 1 13 -170 O3R+3 0 14 600 z3N= 7 7 420 z4s= 5 12 11 3 100 02N-11/1,3 12, -140 W2H+1 1 13 -130 O1K+3 13 1 50 Wes-1
7 4 10 4 650 z4s+1 9 5 =50 z2s-1 2 12 620 N4H= 14 0 460 Z3N+2 72 14 0 300 O2N-3(9,3 4,7 -70 OlK= 11 3 50 W3N-1| 13 1 50 W3N-1
9 8 5 9 620 z4s= 4 10 -150 O4R+1 14 0 660 zZ3N+2| 1 13 =50 z4s-1 9 16 4 10 -80 wls= 4,7 9,3 -110 OlK+2 6 8 -110 OlK+2 1 13 -980 wWes=
11 12 | 10 4 650 z4s+1 6 8 -100 z3s-2 8 6 650 Z4H+1 7 7 420 z4s= 11 10 7 7 =50 z2N-1 7 7 -100 z2s-1 6 8 -110 OlK+2 8 6 —480 W4sS+2
13 2 10 4 650 z4S+1 13 1 300 w2N-3| 8 6 650 Z4H+1 7 7 420 z4s= 13 14 11 3 100 OlN-1|niet gespeeld 14 0 150 O3N-3| 4 10 -490 O3N+3
15 10 14 0 680 Z4s+2| 13 1 300 W3N-3| 8 6 650 Z4H+1 1 13 -50 N5Ss-1 15 6 7 7 =50 NIN-1 |1,3 12, -140 W2H+1 6 8 -110 O3K= 1 13 -980 wW6s=




